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ENGLISH LANGUAGE Direction (Q. Nos. 14 & 15) : Choose the
alternative  which best express the
9. We were brought up in a village and meaning of the given idiom/phrase :

my grandfather was a simple

and quite |Ihteras‘g (Fill in
the blank)

fevdA A) contempt
(A) pheasant (K@/peagg-w) ( )_,/ ey

E B), damage caused by constant use

14. Wear and tear

(C) pleasant (méﬁ &7 —l
(C) festive occasion

Direction (Q. Nos. 10 & 11) : Choose the (D) be leisurely
word that best expresses the meaning of
the underlined word. 15. Not let the grass grow under one’s
10. He refused to kow-tow to the

government’s W|shed on this issue.

T (A) to remain neutral

“ (A) be supportive )

feet

. ] B t related to
(B) “be submissive B+ nEtrErs
(C) be defensive (C) unconcerned Ck ey
(D) be helpful @ waste no time in actmg )
11. It was a perilous journey across the Direction (Q. Nos. 16 & 17) : Find the
mountains. wrongly spelt word :
</,((A)”riskD (B) thrilling
(C) deadly (D) tiring 16. (A) telepathy
(B) antepath
Direction (Q. Nos. 12 & 13) : Select the (C) sympathy
substitution that best expresses opposite @ apathy
meaning of the underlined word :
12. We have made tentative plans for a '
. ~ 17. (A) earnest (B) infest

holiday. T -3

(A) permanen _ definite

(C) detest @

(C) careful “elaborate
18. Children below the age of 16 canbe o
3 RS, B
13. Some democratic countries believe ° triedonlybythe ______ Court. (Fill ,;; -
in racial segregation. in the blank) s
(A) Subordination (B) Domlnatson X : (A) Supreme B) High  ~ 3%
(C) Inferiority < (D) lntegratlon > (C) District D) Juvenile M
n ___———/‘ e — -

oY
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29. Which country will host 8" BRICS
Summit in October 2016 ?
(A) Brazil (B) China
(C) Russia (D) India

30. In which state of India World’s first
‘White Tiger Safari’ has been opened ?
(A) Rajasthan
(B) Madhya Pradesh
(C)- Gujarat
(D) West Bengal

31. PM Modi launched “Stand up India
Scheme” in which of the following ?
(A) Varanasi (B) Kanpur
(C) Noida (D) Lucknow

32. Recently UIDAI touched the historic
landmark by producing 100" crore
Aadhaar. The first Aadhaar was
issued in which year ?

(A) 2011 (B) 2006
(C) 2009 (D) 2010

33. Whois the CEO of OLX ?
(A) Alec Oxenford
(B) Harinder Thakar
(C) leff Bezos
(D) Yong Zhang

34. Kaziranga National Park is situated in
(A) North Sikkim
(B) Assam
{C) Rajasthan
(D). West Bengal

35. Famous song ‘Sare Jahan Se Achha’
was composed by
(A) Rabindranath Tagore
(B) Muhammad Igbal
(C) Manna Day
(D) Bankim Chandra Chatterjee

36. The National Institute of Community
Development is located at
(A) Chennai (B) Delhi
(C) Hyderabad (D) Chandigarh
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as. Which battle was fought between

45.

46.

47.

49.

50.

- (A) Panchkula

Marathas and Ahmad Shah Abdali in
Haryana ?

(A) Third battle of Panipat

(B) Second battle of Panipat

(C) First battle of Panipat

(D) None of the above

Which district of Haryana has the
highest produce of Mustard ?

(A) Sonipat

(B) Faridabad

(C) Gurgaon

(D) Mahendragarh

In which city Kanod's fort is situated ?
(A) Mahendragarh (B) Narnaul
(C) Hansi (D) Thanesar

Which district of Haryana has the
lowest literacy ?

(A) Mahendragarh (B) Rewari

(C) Bhiwani (D) Mewat

How many districts were there in
Haryana at the time of its formation ?
(A) Seven (B) Ten
(C) Nine (D) Eight

In the Beijing Olympic, 2008, which
sports-person was the recipient of

Bronze medal in Boxing ?

(A) Pinky Jagda

(B) Gagan Narang -
{C) Dinesh Kumar

(D) Vijender Singh

Who built the Kose Minars (Towers) ?
(A) Sher Shah Suri

(B) Shahjahan

(C) Akbar

(D) Prithviraj Chauhan

Hill of Morni is situated in which

district ?
(B) Ambala

(C) Mahendragarh (D) Faridabad
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60. Bhindawas Wildlife Sanctuary is
located in which district of Haryana ?
(A) Jhajjar (B) Rewari
(C) Gurgaon (D) Faridabad

61. Main flowing river in Faridabad
district of Haryana is
(A) Saraswati
(C) Yamuna

(B) Sahibi
(D) Markanda

62. The first Akashvani Centre was
established in Haryana at
(A) Rohtak (B) Kurukshetra
(C) Hisar (D) Gurgaon

63. Central Institute for Research on
Buffaloes (CIRB) is in
(A) Rohtak
(C) Hisar

(B) Karnal
(D) None of these

64. In which of the following district
Gurudwara Neem Sahib is situated ?
(A) Panipat
(B) Kaithal
(C) Rohtak
(D) None of these

65. Pandu Pindara holy place is nearby
which town of Haryana ?
(A) Jind (B) Kurukshetra
(C) Pehwa (D) Kaithal_‘

66. Palwal gets the status of district in _

the year
(A) 2006 (B) 2007
(C) 2008 (D) 2005

67. Saina Nehwal is associated with
which sport ?
(A) Shooting
(C) Badminton

(B) Wrestling
(D) Hockey

68. Le Corbusier, the architect of
Chandigarh was belongs to which

country ? |
(A) Germany (B) France’
(C) Italy (D) Spain
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82.

83.

84.

85.

86.

87.

)
Sanmitra walks towards
4 km, turns right and walks 5 km.
Then he turns towards south and
walks 2 km. Again he takes a turn
towards west walks 3 km and stops
for a while. Then he further walks 2
km. What is the distance of Sanmitra
from starting point ?
(A) 16 km (B) 2 km
(C) 4km (D) 3 km

north

Select the related word from the
given alternatives.

TIME : MITE : : MATE : ?

(A) TEAM (B) META

(C) TAME (D) MEAT

Select the one which is different
from the other three responses.
(A) BATVW (B) EFGNM
(C) YXSUV (D) SRPNO

Choose the correct alternative from

the given ones that will complete the

series.
464,232, 116,58, ?

(A) 4 (B) 29

(C) 116 (D) 232

Arrange the following words according

to dictionary order : A

1. Collect 2. Collinear

3. Collection 4, Column

5. Collapse

(A} 5,1,3.2,4 (B)i: 6,8, 2,3,4
(D) 5,1,2,4,3

{g) S %4,8,2

From the given alternative words,
select the word which cannot be
formed using the letters of the given
word.

PRONUNCIATION &
(A) RATION (B) PRONOUN
(C) PRINT (D) NATURAL
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88. A man is four times as old as his son.
Twenty years later he will be just
twice as old as his son. Find their

present ages.

(A) 40-10 years
(B) 30-10 years
(C) 80-20years
(D) 30-20 years

89. 1.086-0.3983-0.669 ="
(A) 0.6208 (B) 1.3948
(C) 0.0048 (D) 0.0187

90. A library has an average number of
510 visitors on Sunday and 240 on
other days. The average number of
visitors per day in a month of 30
days beginning with Sunday is :

(A) 300
(B8) 290
(C) 285
(D) None of these

o s P gy aay ¢ Lmmm———
.

sum of all

__91. The odd numbers
3 between 100 and 200 is :

(A) 6200 (B) 6500

(C) 7500 (D) 3750

92. Himanshu does half as much work as
Yogesh in three-fourth of the time. If
together they take 18 days to
complete the work, how much time
shall Yogesh take to do it ?

(A) 30 days (B) 35 days
(C) 40 days (D) None of these

93. Two stations A and B are 110 km
apart on a straight line. One train
starts from A at 7 a.m. and travels
towards B at 20 kmph. Another train
starts from B at 8 a.m. and travels
onwards A at a speed of 25 kmph. At
what time will they meet ?

(A) 9a.m. (B) 10a.m.

(C) 11am, (D) 10.30 a.m.
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96.

97.

98.

Y

25/0.005=7  ___ ;
(A) 500 ((B) 5000 >
(C) 2500 (D) 0.50

A man covers a distance from a town
A to a town B on scooter at 30 kmph
and rides back from B to A at 20
kmph. His average speed is

(B) 30 kmph
(C) 18 kmph
(D) None of these

Five numbers in geometric
progression are such that their

product is 32. Find the third number.

(A) 4
(€)2

(B) 1/2
(D) 8

Twelve men can complete a work in
8 days. Three days after they started
the work, 3 more men joined. In how
many days will all of them together
complete the remaining work ?

(A) 2 (B) 4

{C).'5 (D) 6

Which of the following fractions is

7 1
less than 3 and greater than 3 ?

3
1 23
(A) 7 (B) 5
| 11 17
© 3 (D) 22

99.

100.

Which one of the following metals

does not react with water to
produce Hydrogen ?
(A) Potassium (B) Cadmium

(C) Sodium (D) Lithium
From which of the following trees
quinine is obtained ?

(A) Eucalyptus

(B) Rauwolfia serpentina
(©) Walnut

(D) Cinchona

(o)

i

87.

98.

89,

100.
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